ks

THE:
AR T
LIAL &E2[E U &3 El, }HarZ,

EM OlF2]:

AR T

LIAF &2, A &tstr2l.

a E, Fst oo, a2l A Askr 2l

AHQIE|IA AR HE:
LIAb 22|12, FEE *El.
&= €, ook FEE Rl

2| B, AX5|A RAL7021 = E2HZ! wh7HAH RAL3020.

AL

S5 A biF,

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



=y | - —
OIEUA SEX|, AS| L= ABQIR|A AR B2 BH, ZALAE H
Ms Jgl s, AR &gl 3B UEUS
=N
|
‘ |
N
el I SW2
T
— L
' W
p-0.02 *
-0,04
e
Z= Q0
=2Hs Ee  ExME EH TAE AA D D1 D2 L L1L2AEE3 SW1SW2Fx30° AR EbM
718 = S Ed BR
F1 2. NF2 2. N
K0631.6903 B AEl ast Z3|M RAL7021 3 M6x0,75142556 5 3,5 8 10 08 4 10
K0631.6004 B A A3t HAS|MMRAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.6105 B AEl A3t ZHA5|ARAL7021 5 M10x1 213458 7 5 13 17 1.3 5 12
K0631.6206 B AEl a5t Z3|M RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.6308 B A A3t A3|M RAL 7021 8 M16x1,5 33 54 1210 8 19 24 23 14 28
K0631.6410 B AE PEL Z35|M RAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.690384 B AEl As M35 wZ RAL 3020 3 M6x0,75 142556 5 35 8 10 08 4 10
K0631.600484 B AE Zs  AMEZSWZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.610584 B AEl Z#8 AMESWZRAL3020 5 M10x1 213458 7 5 13 17 1.3 5 12
K0631.620684 B AEl Ads AES wZ RAL 3020 6 M12x1,5 2541,710 8 6 14 19 18 6 14
K0631.630884 B A Zs  AEZS wZ RAL3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.641084 B AE Zs AlES wZ RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.16903 B AHQIFA ALl H|ZEF Z3|M RAL7021 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.16004 B AECIFA AEl H|ZS} ZH3MRAL7021 4 M8x1 182956 6 4 10 13 1 4 12
K0631.16105 B AHIQIE|A ARl H|HES AS|M RAL7021 5 M10x1 213458 7 5 13 17 1,3 5 12
K0631.16206 B AHQIHA ALl H|ZEF A3 RAL7021 6 M12x1,52541,710 8 6 14 19 18 6 14
K0631.16308 B AECIFA AEl H|ZS} ZA3|A RAL7021 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.16410 B AHIQIE|A ARl H|HS A3|M RAL 7021 10 M20x1,5 33 61 1512 10 22 30 28 15 32
K0631.1690384 B AFHICIBA ARl H|ZES ASS w7 RAL3020 3 M6x0,75 142556 5 3,5 8 10 08 4 10
K0631.1600484 B AEIQIPA ARl H|ZFS LSS WZRAL3020 4 M8x1 182956 6 4 10 13 1 4 12
K0631.1610584 B AH[QID|A AR H|ZFSt £S5 WZ RAL3020 5 M10x1 213458 7 5 13 17 1,3 5 12
K0631.1620684 B AECIEA AEl H|ZASE (S S #Z RAL3020 6 M12x1,52541,710 8 6 14 19 18 6 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
ClIA = AEI CE= A A AEl IS =AaALAE
oleliA EfX, AE EE= AH|Ql2|A AR B2 M, E2IAE] HY
A S ole X1 o0oie Xk ol
Jdgi :'-EI Iy — A — =] = HAE= a3 I—'lE e —
=2 Qok
- e |
=2 Hs B =A MY EH THE M D D1 D2 L L1L2AEE3 SW1SW2Fx30° AR  EbM
718 8% S BNy ==
F1 2 NF2 2. N
K0631.1630884 B AE[OIFA ARl H[ZFS} AIS5 ®Z RAL3020 8 M16x1,533 54 1210 8 19 24 23 14 28
K0631.1641084 B AH|QIE|A AR H|ZS L3S ¥ZF RAL 3020 10 M20x1,5 33 61 1512 10 22 30 28 15 32

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



